T+ T i B OE (13 4D)
4 r &t A 2V HAir % B
+T
el BHEBEHELLY = 7.6
(AbAREs43)
V= 0.29 X 5 = 1.5
V= 9.1 m3 9
PRI KR EFRE LY V= 208.4 m3 208
MR KR EFRE LY V= 160.4 m3 160
(ZEH+)
DA T V= PR+ —HEE (G 1) 74
PG (EEAE ) ¥ 4y
V = 160.4
= 160.4 m3
V=208.4 + 9.1 —  160.4 =+ 0.9
V= 39.2  m3 39




LA« ST iAE & (1% %40)
4 r &t A 2V HAir % B
HLAT
HiA BHEBEHELLY V= 51.3  m3 51
(1~70kg) ¥ 51.3 X .25 = 64. 1
HE
b — b BHEEEFREE LY A= 175.9  m2 176
5| HERREE
883N/5embh
HOAK L BHEBEHELLY A= 59.7  m2 60
iz |- iRE H R LASk
+20cm
HIAB L BHEBEHELLY A= 83.7  m2 84
Biz_ B3 RE 60
+20cm
T
b KR EFRELY V= 160.4 m3
(ZEH+)

160




e = IE W
T R R OE (15 %)
4 ZiiN &t " 2 B M &
av) ) - MafEE T
oy )— b EEETFEMK LY
18-5-40BB A =  394.24 m2
t=20cm (ABARER 4y
A = 183.13 m2
V = 577.37 X 0. 20 =  115.5
V= 115.5  m3 116
F e EAE TEEHIR XL 0 = 394.2
RC-40
t=15cm (AbARIER 57) =  183.1
A= 577.4  m2 577
Tl e 4. 46 X 1 X 0. 20 +
7.56 X 2 X 0.20 +
6.51 X 1 X 0.20 +
6. 27 X 1 X 0.20 +
7.31 X 2 X 0.20 +
6. 52 X 1 X 0.20 +
7.32 X 2 X 0.20 +
7.33 X 1 X 0.20 +
4. 50 X 1 X 0.20 +
5. 00 X 4 X 0. 20 = 20.0
(AbARER 53)
6.17 X 1 X 0.20 +
7.01 X 2 X 0.20 +
7.03 X 1 X 0. 20 = 5.4
A= 25.4 | m2 25




by = IR
BAE T G EE (13 4D)
4 i &t A =X HAL B
H 4. 46 X 1 X 0.20 +
FHEE%t=10mm 7.56 X 2 X 0.20 +
6.51 X 1 X 0.20 +
6.27 X 1 X 0.20 +
7.31 X 2 X 0.20 +
6. 52 X 1 X 0.20 +
7.32 X 2 X 0.20 +
7.33 X 2 X 0.20 +
4. 50 X 1 X 0.20 +
5. 00 X 11 X 0.20 = 28.5  m2
( 0.33+1. 08+0. 89+5. 20+4. 74+0. 42+1. 00+4. 96+
2.00+1. 05+1. 00+1. 03+1. 09+0. 83+0. 97+4. 04+0. 79+0. 99+
1. 00+0. 99+1. 02+3. 92+1. 07+1. 02+1. 00+1. 02+2. 94+2. 13+
1. 04+1. 03+1. 02+0. 99+0. 81+0. 87+4. 14+0. 89+0. 90+0. 59+
1. 00+1. 02+1. 01+3. 39+3. 62+1. 00+1. 00+0. 99+0. 48+
4.97 ) X0. 20 5.9  m2
(AbAaEs 43)
6. 17 X 1 X 0.20 +
7.01 X 2 X 0.20 +
7.03 X 2 X 0.20 +
6. 89 X 2 X 0.20
= 9.6 m2
( 7.55+1. 04+1. 62+4. 06+1. 67+0. 39+4. 98+5. 00 X 2+
5. 03+5. 17) X 0. 20
= 8.3  m2
A= 62.2  m2 62
ARG ST LY = 394.2
¢ 6mm 150X 150
(AEARIER57) = 183.1
A= 577.4  m2 577




SR L i A (12 %0p)
4 g &t = FaV WAL % &
Bl LT
) -bEEE L EEE TEE L 0
AER A = 394.24 m2
(AbARIER 45
A = 183.13 m2
577.37 X 0.30 = 173.2
V= 173.2 m3 173
Loy av))-MEEE L KD V= 173.2  m3 173




% E B R AR
T E=T] ERING s
W | 1~ T0kg T+ i
Frais | BB | BwEkE | BB | B i | BE
No. 0-9.40 0.00 0.00 - 0.00 - 0.00 - 0.00 -
No. 0-1.50 7.90 0.01 0.0 1.94 7.7 0.00 0.0 2.08 8.2
No. 0 1.50 0.02 0.0 4.33 4.7 1.12 0.8 3.39 4.1
No. 0+9.30 9.30 0.02 0.2 4.33 40.3 1.12 10.4 3.39 31.5|No. OWr i 4
[A1 T 0.00 0.00 0.0 3.88 0.0 0.77 0.0 3.31 0.0No. 1} 4
No. 1+4.30 5.00 0.00 0.0 3.88 19.4 0.77 3.9 3.31 16.6|No. 1 47 7 H
[T 0.00 0.19 0.0 3.50 0.0 1.02 0.0 2.48 0.0|No. 2/ 4
No. 2 5.70 0.19 1.1 3.50 20.0 1.02 5.8 2.48 14.1
No. 2+9.40 9.40 0.19 1.8 3.50 32.9 1.02 9.6 2.48 23.3 |No. 207 4
[ it 0.00 0.28 0.0 3.94 0.0 0.82 0.0 3.12 0.0|No. 3 %
No. 3+4.40 5.00 0.28 1.4 3.94 19.7 0.82 4.1 3.12 15.6|No. 3147 4 ]
[ Fp 0.00 0.22 0.0 4.11 0.0 1.04 0.0 3.07 0.0|No. 4 %
No. 4 5.60 0.22 1.2 4.11 23.0 1.04 5.8 3.07 17.2
No. 5 10.00 0.16 1.9 3.80 39.6 1.07 10.6 2.73 29.0
No. 5+0.30 0.30 0.16 0.0 3.80 1.1 1.07 0.3 2.73 0.8|No. 5 Wi 4
g
59.7 7.6 208.4 51.3 160.4




X HE B EE X
BE—F FEAKIL HOABIL
WA | B e b s ELIA b2 E L i
EE B E EE HE HE M E EE 5B
No. 0-9.40
No. 0-1.50 7.90 0.0 0.0 0.0
No. 0 150 0.0 0.0 0.0
No. 0+9.30 9.30 3.68 34.2 1.33 12.4 1.70 15.8 No. 0¥ i %
[5] AT 0.00 2.68 0.0 0.41 0.0 1.62 0.0 No. 1 ¥ i %
No. 1+4.30 5.00 2.68 13.4 0.41 2.1 1.62 8.1 No. 1 ¥ #EH
[5] AT 0.00 3.65 0.0 1.35 0.0 1.65 0.0 No. 287 i %
No. 2 5.70 3.65 20.8 1.35 7.7 1.65 9.4
No. 2+9.40 9.40 3.65 34.3 1.35 12.7 1.65 15.5 No. 287 i %
[5] AT 0.00 2.88 0.0 0.54 0.0 1.69 0.0 No. 38T i %
No. 3+4.40 5.00 2.88 14.4 0.54 2.7 1.69 8.5 No. 37 %4
[5] AT 0.00 3.68 0.0 1.39 0.0 1.64 0.0 No. 48 i %
No. 4 5.60 3.68 20.6 1.39 7.8 1.64 9.2
No. 5 10.00 3.74 37.1 1.39 13.9 1.70 16.7
No. 5+0.30 0.30 3.74 1.1 1.39 0.4 1.70 0.5 No. 58 i %
Nt
59.7 175.9 59.7 83.7 0.0




